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A3 —2 EEMICERTILBESNOEHEICEHT HEIR/5) _ _ | HzagE | BHIEE
SEfouE [ #BmES | 019A0742. a | i \ JUBEE | FRTEHh AR A
, SEMMOTIRICHEET S S ERI A
i LREOBBNBIEADKRES LREOERBELADRES LREOBHOBSENDRES LREDEBRBILNDRES
&S X 4 E'%:né){ 'Fﬁﬁb‘(i)@ﬁﬁ%ﬁ jj(gilzc"ié X 4 ‘Fﬁﬁﬁg\%l:z(?;kili ‘(.%r‘n? jj(gilzc"ié X 4 ﬁa‘; J:ﬁﬁﬁf)‘(i)a)tt% jj(&iimé)é X 4 J:ﬁﬁﬁf)‘(i)a)tt% ﬁf jj(&iimé)é
7 100kN/ Mm% Z % — - ~ — —|3mZTiB2B| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 000 ~ 475 59.22 | =nLs | 000 ~ 000 1.78 8.99 FhLst 1.00 | 5.00 ~ 5.00 59.22 | #nst | .00 ~ 500 1.78 8.99
2 100kN/mM%E#BZ 5 — - ~ — —|3m%EiB2B| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 569 71.05 | #nst | 000 ~ 569 1.88 9.51 zhLst 1.00 | 6.00 ~ 6.60 71.05 | #nst | .00 ~ 6.60| 1.88 9.51
3 100kN/ Mm% Z 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 556 69.46 | Thst | 000 ~ 556 1.88 9.50 zhLst 1.00 | 6.00 ~ 6.40 69.46 | EnS | 5,00 ~ 6.40| 1.88 9.50
p 100kN/mM%E#BZ 5 — - ~ — —|3m%TiBR2B| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 580 7256 | #npst | 000 ~ 580 1.82 9.21 zhLst 1.00 | 6.00 ~ 6.60 72.66 | EnLS | .00 ~ 660 1.82 9.21
5 100kN/ Mm% Z 5 — - ~ — —|3mZTiB2B| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 587 73.48 | #npst | 000 ~ 587| 1.89 9.57 zhLst 1.00 | 6.00 ~ 6.95 73.48 | EnLS | .00 ~ 6.95| 1.89 9.57
P 100kN/m%#8%z% | 1.00 | 000 ~ 1.18| 117.78 |3m%x#Bz%| — ~ — — — | 100kN/m%#82% | 1.00 | 1370 ~ 1869 11778 |3m%E#BZ% - ~ — — —
zhLst 100|118 ~ 896 | 100.00| Fhis | 000 ~ 896 2.84 14.33 zhLst 1.00 ) 5600 ~ 1370 100.00| FnSt | 5,00 ~ 1869 2.84 14.33
- 100kN/m##8%2% | 1.00 | 000 ~ 155 123.67 |3m&EBZB| 000 ~ 027|320 16,17 | 100kN/m%#Bz5 | 1.00 | 1330 ~ 2008| 123.67 |3m&EBZB| 2000 ~ 20.08| 3.20 16.17
Thilst 1.00 | 155 ~ 934 100.00 | #hst | 027 ~ 9.584| 3.00 15.16 Thilst 1.00 | 6.00 ~ 1330 100.00 | Tns | 6.00 ~ 20.00| 3.00 15.16
3 100kN/m%#BZz5 | 1.00 | 000 ~ 217| 13368 |3mEBZB| 000 ~ 0.05] 5.03 15.32 | 100kN/mi%#825 | 1.00 | 11.73 ~ 20.74| 133.68 |3m%EiBz 5| 2000 ~ 20.74 | 3.03 156.32
Thilst 100|217 ~ 995\ 100.00| ThiH | 005 ~ 9.95| 3.00 15.16 st 1.00 | 6.00 ~ 1173 100.00 | TnAS | 6.00 ~ 20.00| 3.00 15.16
9 100kN/m%#82% | 1.00 | 000 ~ 243 137.99 |3mZE#BZ2 3| 000 ~ 0.07| 5.05 15,40 | 100kN/mi%#825 | 1.00 | 11.85 ~ 2284 13799 |3mEi#Bz 5| 2000 ~ 2281| 3.05 156.40
st 1.00 | 243 ~ 1021 100.00 | ThLS | 007 ~ 1021] 3.00 15.16 st 1.00 | 6.00 ~ 1185| 100.00 | Tns | 6.00 ~ 20.00| 3.00 15.16
10 100kN/M%E#BZ 5 - -~ - —|3mEBZE| — ~ — — — | 100kN/MZEEEZ % - -~ = —|[3mEERE[ — ~ — - -
Ths — -~ = — | #hust -~ = — — Ths — - ~ — — | Zhst — ~ — — —
11 100kN/M%E#BZ 5 - -~ - —|3mEBZE| — ~ — — — | 100kN/MZEEEZ % - -~ = —|[3mEERE[ — ~ — - -
Ths — -~ = — | #hust -~ = — — Ths — - ~ — — | Zhst — ~ — — —
12 100kN/M%E#BZ 5 - -~ - —|3mEBZE| — ~ — — — | 100kN/MZEEEZ % - -~ = —|[3mEERE[ — ~ — - -
Ths — -~ = — | #hust -~ = — — Ths — - ~ — — | Zhst — ~ — — —
13 100kN/M%E#BZ 5 - -~ - —|3mEBZE| — ~ — — — | 100kN/MZEEEZ % - -~ = —|[3mEERE[ — ~ — - -
Ths — -~ = — | #hust -~ = — — Ths — - ~ — — | Zhst — ~ — — —
14 100kN/M%E#BZ 5 - -~ - —|3mEBZE| — ~ — — — | 100kN/MZEEEZ % - -~ = —|[3mEERE[ — ~ — - -
Ths — -~ = — | #hust -~ = — — Ths — - ~ — — | Zhst — ~ — — —
15 100kN/M%E#BZ 5 - -~ - —|3mEBZE| — ~ — — — | 100kN/MZEEEZ % - -~ = —|[3mEERE[ — ~ — - -
Thst — -~ = — | #hust -~ = — — ZThst — — ~ — — | Zhust — ~ — —
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&S X 4 E'%:né){ 'Fﬁﬁb‘(i)@ﬁﬁ%ﬁ jj(gilzc"ié X 4 ‘Fﬁﬁﬁg\%l:z(?;kili ‘(.%r‘n? jj(gilzc"ié X 4 ﬁa‘; J:ﬁﬁﬁf)‘(i)a)tt% jj(&iimé)é X 4 J:ﬁﬁﬁf)‘(i)a)tt% ﬁf jj(&iimé)é
16 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst — - ~ — —| #n st -~ — — — FhLst — - ~ — —| Fhst - ~ — — —
17 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst — - ~ — —| #nst -~ — — — Zhst — - ~ — — | Fhst - ~ — — —
18 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst — - ~ — —| #n st - ~ — — — Fhst — - ~ — —| Fhst - ~ — — —
19 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst — - ~ — —| #hst -~ — — — Zhst — - ~ — — | Fhst - ~ — — —
20 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst — - ~ — —| #n st - ~ — — — Zhst — - ~ — —| Fhst - ~ — — —
21 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst — - ~ — —| #nst -~ — — — Zhst — - ~ — — | Fhst - ~ — — —
29 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Ths — -~ = — | #hust -~ = — — Ths — - ~ — — | Zhst — ~ — — —
23 100kN/mMZ#2Z % — - ~ — —|3mEEZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B -~ — — —
Thilst 1.00 | 000 ~ 610 76.44 | #hst | 000 ~ 610 2.98 15.08 Thilst 1.00 | 6.00 ~ 1467 76.44 | TS | 6.00 ~ 1467 2.98 156.08
2 100kN/mZ#Bz5 | 1.00 | 000 ~ 025| 10370 |3mEBZB| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1387 ~ 1478 103.70 |3mE#Bz2% -~ — — —
Thilst 1.00 | 025 ~ 804 100.00 | #hst | 000 ~ s04| 262 13.25 Thilst 1.00 | 6.00 ~ 1387 100.00 | Tnls | 6.00 ~ 14.78| 2.62 13.25
25 100kN/m%#B25 | 1.00 | 000 ~ 048\ 10709 |3mEBZB| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1379 ~ 1558 107.09 |3mE#Bz2% - ~ — — —
Thilst 100048 ~ 826 100.00| Thls | 000 ~ 826 2.84 14.36 Thilst 1.00 | 6.00 ~ 1379 100.00 | TnS | 6.00 ~ 1558| 2.84 14.36
2% 100kN/m%Z#B25 | 1.00 | 000 ~ 052| 10766 |3mEBZB| — ~ — — — | 100kN/iZ#825 | 1.00 | 1233 ~ 14.00| 107.66 |3m%EiBz% - ~ — — —
Thilst 1.00 | 052 ~ 830 100.00 | #nList | 000 ~ 830 251 12.67 Thilst 1.00 | 6.00 ~ 1233 100.00| TnS | 6.00 ~ 1400)| 2.51 12.67
27 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B - ~ — — —
st 1.00 | 000 ~ 740 94.39 | Thst | 0oo ~ 740\ 2.66 13.43 st 1.00 | 6,00 ~ 1312 94.39 | TS | 5,00 ~ 1312| 2.66 13.43
28 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B - ~ — — —
st 1.00 | 0.00 ~ 6.76 85.40 | =hs | 000 ~ 676 2.67 13.61 st 1.00 | .00 ~ 1140 85.40 | =nst | 5,00 ~ 11.40| 2.67 13.61
29 100kN/m%#825 | 1.00 | 000 ~ 0.51 107.50 |3mZi#BAD| — ~ — — — | 100kN/mM%E#BZ25 | 1.00 | 1242 ~ 1407| 107.50 |3mE#BZ% - ~ — — —
Thilst 100|051 ~ 829\ 100.00| ThiH | 000 ~ 829 2.52 12.71 Thilst 1.00 | 6.00 ~ 1242 100.00 | TnS | 6.00 ~ 14.07| 2.62 1271
20 100kN/m%#Bz25 | 1.00 | 000 ~ 0565| 10815 |3mEBZB| — ~ — — — | 100kN/iZ#82% | 1.00 | 1066 ~ 1218 10815 |3m%EiBz% - ~ — — —
Thilst 100|055 ~ 833 100.00 | #npst | 000 ~ 8383|227 11.47 FhLst 1.00] 56.00 ~ 1066 100.00| Tnst | 6.00 ~ 1218 2.27 11.47
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&S X 4 E'%:né){ 'Fﬁﬁb‘(i)@ﬁﬁ%ﬁ jj(gilzc"ié X 4 ‘Fﬁﬁﬁg\%l:z(?;kili ‘(.%r‘n? jj(gilzc"ié X 4 ﬁa‘; Lﬁﬁb\(i)@tt% jj(&iimé)é X 4 Lﬁﬁb\(i)@tt% ﬁf jj(&iimé)é
37 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 0.o0 ~ 669 84.42 | =nLs | 000 ~ 669 2.68 13.53 FhLst 1.00 | 5.00 ~ 1124 84.42 | =nhst | 500 ~ 11.24| 2.68 13.53
99 100kN/m%#8%z% | 1.00 | 000 ~ 1.05| 11580 |3m%xBz%| — ~ — — — | 100kN/m%#82% | 1.00 | 1055 ~ 1372 11580 |3m%E#BZ% - ~ — — —
zhLst 100|105 ~ 884 100.00 | #nst | 000 ~ 884|222 11.23 zhLst 1.00 ] 56,00 ~ 1055 100.00| FnLS | 5,00 ~ 1372 2.22 11.23
323 100kN/m##8%z% | 1.00 | 000 ~ 0.75| 111.24 |3m%x8Bz%| — ~ — — — | 100kN/m%#82% | 1.00 | 11.49 ~ 1380 111.24 |3m%E#BZ% - ~ — — —
zhLst 1001075 ~ 864 100.00 | #nst | 000 ~ 854 | 242 12.23 zhLst 1.00 | 6,00 ~ 1149 100.00 | FnLS | 5,00 ~ 1380 | 2.42 12.23
94 100kN/m%#8%z% | 1.00 | 000 ~ 1.27| 11917 |3m%x#Bz%| — ~ — — — | 100kN/m%#25 | 1.00 | 11.68 ~ 1600| 119.17 |3mE#¥z3 - ~ — — —
zhLst 100|127 ~ 905\ 100.00| FThis | 000 ~ 9.05| 2.65 13.41 zhLst 1.00 ] 6.00 ~ 1168 100.00| FnLS | 5,00 ~ 1600 2.65 13.41
95 100kN/m##8%z% | 1.00 | 000 ~ 1.78| 12728 |3m&x#Bz%| — ~ — — — | 100kN/m%E#z25 | 1.00 | 11.02 ~ 17.28| 127.28 |3m&x#z3 - ~ — — —
zhLst 100|178 ~ 956\ 100.00| ThLs | 000 ~ 956 2.66 12.91 zhLst 1.00 ] 6,00 ~ 1102 100.00| FnLS | 5,00 ~ 17.28)| 2.66 12.91
26 100kN/m%#8%% | 1.00 | 000 ~ 076 111.37 |3m%x#Bz%| — ~ — — — | 100kN/m%#8=2% | 1.00 | 1233 ~ 1489 111.37 |3m%E#BZ% - ~ — — —
zhLst 1001076 ~ 855 100.00| FThs | 000 ~ 855 2.51 12.67 zhLst 1.00 ] 5600 ~ 1233 100.00 | Tnst | 6,00 ~ 14.89| 2.561 12.67
37 100kN/m##8%z% | 1.00 | 000 ~ 243 13806 |3m&xBz%| — ~ — — — | 100kN/m%#82% | 1.00 | 10.75 ~ 2060 138.06 |3m%E#BZ% - ~ — — —
Ths 1.00 | 243 ~ 1022 100.00| Ths | 000 ~ 1022] 2.84 14.56 Thilst 1.00 | 6.00 ~ 1075 100.00 | Ths | 500 ~ 2060|284 14.36
38 100kN/m%#825 | 1.00 | 000 ~ 304 148.33 |3mZ#BZ 5| 000 ~ 016 3.09 15.60 | 100kN/m%#8z25 | 1.00 | 1054 ~ 2630 14833 |3m&EBZB| 2500 ~ 2630 3.09 15.60
Thilst 1.00 | 304 ~ 1082 100.00| ThiS | 016 ~ 1082] 3.00 15.16 st 1.00 | 6.00 ~ 1054 100.00 | TnAS | 6.00 ~ 2500| 3.00 15.16
29 100kN/m%#825 | 1.00 | 000 ~ 201 131.15 |3mZi#BAS| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1055 ~ 1800 13115 |3mEx#Bzi% -~ — — —
Thilst 1.00 | 201 ~ 9.80 100.00 | #nList | 000 ~ 9.80 )| 2.41 1217 Thilst 1.00 | 6.00 ~ 1055 100.00 | TnS | 6,00 ~ 1800 2.41 1217
40 100kN/m%#825 | 1.00 | 000 ~ 284 144.97 |3mZE#BASH| — ~ — — — | 100kN/MiZ#B2 5| 1.00 | 1064 ~ 24.19| 144.97 |3m%EiBz5 - ~ — — —
Zhst 100|284 ~ 1063 100.00| TS | 000 ~ 1063] 2.74 13.83 Thilst 1.00 | 5.00 ~ 1054 100.00| FnRS | 500 ~ 2419 2.74 13.83
41 100kN/m%Z#Bz25 | 1.00 | 000 ~ 1.68| 12580 |3mzxBZB| — ~ — — — | 100kN/m%E#Bz25 | 1.00 | 1265 ~ 2680 12580 |3mx#Bz2% - ~ — — —
Thilst 100|168 ~ 947\ 100.00| This | 000 ~ 947 2.69 13.62 Thilst 1.00 | 6.00 ~ 1265| 100.00 | TnS | 6.00 ~ 26.80| 2.69 13.62
22 100kN/m%#Bz5 | 1.00 | 000 ~ 202| 131.30 |3mE8BZB| — ~ — — — | 100kN/iZ#82% | 1.00 | 1206 ~ 29.00| 131.30 |3m%EiBz% - ~ — — —
Thilst 1.00 | 202 ~ 981 100.00 | #hst | ooo ~ 981|274 13.82 Thilst 1.00 | 6.00 ~ 1206| 100.00 | TnS | 6.00 ~ 29.00| 2.74 13.82
43 100kN/m%#B25 | 1.00 | 000 ~ 1.19| 11794 |3mEBZB| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1065 ~ 1430 117.94 |3mE#BZ% - ~ — — —
Thilst 1.00 | 119 ~ 897 100.00 | Fhs | 000 ~ 897|227 11.45 Thilst 1.00 | 6.00 ~ 1065 100.00| TnLS | 6,00 ~ 1430) 2.27 11.45
4 100kN/M%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B - ~ — — —
Ths — -~ = — | #hust -~ = — — Ths — - ~ — — | Zhst — ~ — — —
45 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B - ~ — — —
Thst — -~ = — | #hust -~ = — — ZThst — — ~ — — | Zhust — ~ — —
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&5 X 4 E.%r'n‘c‘; Tﬁﬁﬁ‘(ifﬁﬁ‘ﬁﬁ jj(lfl)\lzcnié X 4 'Fﬁﬁﬁg\%l:z(?;kzli '(.%r'n? jj(lfl)\lzcnié X 4 ﬁ? J:ﬁﬁ*ﬁf)\(i;])tt?%' jj(giacm%)é X 4 J:ﬁﬁ*ﬁf)\(i;])tt?%' ﬁf jj(&icm%)é
46 100kN/ Mm% 2 % - -~ = —[3mzB2H — ~ — — — | 100kN/M#%#2 2% — - ~ — —[3mZEBZ B - ~ — — —
zhLst — - ~ — —| Zh st -~ — — — zhLst — - ~ — —| #nLst - ~ — — —
e 100kN/ Mm% 2 % - -~ = —[3mzB2H — ~ — — — | 100kN/M#%# 2% — - ~ — —[3mZEBZ B - ~ — — —
zhLst — - ~ — —| Zh st -~ — — — zhLst — - ~ — —| #nLst - ~ — — —
48 100kN/ Mm% 2 % - -~ = —[3mzEB2H — ~ — — — | 100kN/M#%# 2% — - ~ — —[3mZEBZ B - ~ — — —
zhLst — - ~ — —| Zh st -~ — — — zhLst — - ~ — —| #nLst - ~ — — —
49 100kN/ Mm% 2 % - -~ = —[3mzB2H — ~ — — — | 100kN/M#%# 2% — - ~ — —[3mZEBZ B - ~ — — —
zhLst — - ~ — —| Zh st -~ — — — zhLst — - ~ — —| #nLst - ~ — — —
50 100kN/ Mm% 2 % - -~ = —[3mz8B2H — ~ — — — | 100kN/M#%# 2% — - ~ — —[3mZEBZ B - ~ — — —
zhLst — - ~ — —| Zh st -~ — — — zhLst — - ~ — —| #nLst - ~ — — —
51 100kN/ Mm% 2 % - -~ = —[3mzB2H — ~ — — — | 100kN/M#%#2 2% — - ~ — —[3mZEBZ B - ~ — — —
zhLst — - ~ — —| Zh st -~ — — — zhLst — - ~ — —| #nLst - ~ — — —
52 100kN/ Mm% 2 % - -~ = —[3mz8B2H — ~ — — — | 100kN/M#%# 2% — - ~ — —[3mZEBZ B - ~ — — —
Zhst - -~ - —| Fhus -~ = — — Zhst — — ~ — —| Zhs — ~ — — —
53 100kN/M%#B % % — -~ - —|3mZ&BZB| — ~ — — — | 100kN/Mi%#8 %% — - ~ — —|3mZi#BZ % -~ — — -
Zhpst - -~ - —| Fhus -~ = — — Zhpst — — ~ — —| Zhs — ~ — — —
54 100kN/M%#B % % — -~ - —|3mZ&BZB| — ~ — — — | 100kN/Mi%#8 %% — - ~ — —|3mZi#BZ % -~ — - -
Zzhst - -~ - —| Fhus -~ = — — Zzhst — — ~ — —| Zhs — ~ — — —
55 100kN/M%#B % % — -~ - —|3mE&BZB| — ~ - — — | 100kN/Mi%#8 %% — - ~ — —|3mZi#BZ % -~ — - -
Zzhst - -~ - —| Fhus -~ = — — Zzhst — — ~ — —| Zhs — ~ — — —
56 100kN/M%#B % % — -~ - —|3m%&BZB| — ~ — — — | 100kN/Mi%#8 %% — - ~ — —|3mZi#BZ % -~ — - -
Zzhst - -~ - —| Fhus -~ = — — Zzhst — — ~ — —| Zhs — ~ — — —
57 100kN/mMZE#BZ5 | 1.00 | 000 ~ 373| 160.50 |3m%ERBZ5| 000 ~ 0.52| 3.29 16.63 | 100kN/m%E#BZ25 | 1.00 | 1069 ~ 3832 160.50 |3m&EBZB| 2500 ~ 3832| 3.29 16.63
Thilst 100|373 ~ 15| 100.00| FhLst | 062 ~ 1151] 3.00 15.16 Thilst 1.00 | 56,00 ~ 1069 100.00| FnLS | 5,00 ~ 2500 3.00 156.16
58 100kN/mMZE#BZ% | 1.00 | 000 ~ 373| 160.57 |3mEBZ5| 000 ~ 063 3.36 17.00 | 100kN/m%E#BZ 5% | 1.00 | 1090 ~ 3786 160.57 |3mEBZB| 2500 ~ 37.86| 5.56 17.00
Thilst 100|373 ~ 12| 100.00| FhLst | 063 ~ 1152] 3.00 15.16 Thilst 1.00 ] 56,00 ~ 1090 100.00| FnLS | 5,00 ~ 2500 3.00 156.16
59 100kN/mMZE#BZ% | 1.00 | 000 ~ 357\ 157.77 |3mEHBZB| 000 ~ 033 3.18 16.05 | 100kN/m%E#BZ 5 | 1.00 | 1058 ~ 3777 1567.77 |3mEBZ S| 2500 ~ 37.77| 5.18 16.05
Thilst 1.00 | 357 ~ 1136 100.00 | ThiH | 033 ~ 11.36] 3.00 15.16 Thilst 1.00 | 5600 ~ 1053 100.00| FnLS | 5,00 ~ 2500 3.00 156.16
60 100kN/mMZE#BZ% | 1.00 | 000 ~ 379\ 161.61 |3mEBZB| 000 ~ 057 3.32 16.79 | 100kN/m%#BZ% | 1.00 | 10.77 ~ 39.96| 161.61 |3mE#BZS| 2500 ~ 39.96| 5.52 16.79
FhLst 100|379 ~ 157\ 100.00| Ths | 067 ~ 1157] 3.00 15.16 Zhst 1.00] 500 ~ 1077 100.00 | FhS | 5.00 ~ 2500 3.00 15.16
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61 100kN/mM#E#BZ5 | 1.00 | 000 ~ 374 160.78 |3m%E#BZB| 000 ~ 052 3.29 16.63 | 100kN/m%#Bz5 | 1.00 | 1069 ~ 38841 160.78 |3m&EBZB| 25,00 ~ 3884| 3.29 16.63
Fhst 1.00 | 374 ~ 1153 100.00 | Thst | 062 ~ 11.53] 3.00 1516 zhLst 1.00 | 6.00 ~ 1069| 100.00 | Fns | 6.00 ~ 2500| 3.00 156.16
62 100kN/m##8z% | 1.00 | 000 ~ 369 1569.80 |3mEBzx3B| 000 ~ 082| 3.51 17.75 | 100kN/m%#Bz25 | 1.00 | 11.59 ~ 3986 | 159.80 |3m&E#BZ 5| 2000 ~ 39.86| 3.51 17.756
Zhst 1.00 | 569 ~ 1147 100.00 | #hst | 0.82 ~ 11.47| 3.00 15.16 zhLst 1.00 | 6.00 ~ 1159 100.00 | #hst | 5.00 ~ 2000 3.00 16.16
63 100kN/m##8%% | 1.00 | 000 ~ 1.33| 120.11 |3m&FBZ5| 000 ~ 049| 3.40 17.16 | 100kN/m%#825 | 1.00 | 1621 ~ 2403| 120.11 |3mEBZB| 2000 ~ 24.03| 3.40 17.16
zhLst 100|133 ~ 9.11 100.00 | #nst | 049 ~ 9.11| 3.00 15.16 zhLst 1.00 | 500 ~ 1621 100.00 | =05t | 6.00 ~ 20.00| 3.00 15.16
64 100kN/m##8%% | 1.00 | 000 ~ 096 114.36 |3mE{BZ5B| 000 ~ 119| 3.95 19.99 | 100kN/m%#Bz5 | 1.00 | 1874 ~ 2549 114.36 |3mEBZB| 1500 ~ 2549| 3.95 19.99
zhLst 100096 ~ 874 100.00 | #hst | 119 ~ 874 3.00 15.16 zhLst 1.00 ] 6,00 ~ 1874 100.00 | FnLSt | 5,00 ~ 1500 3.00 15.16
65 100kN/mM#E#BZ5 | 1.00| 000 ~ 184 128.35 |3mZEBZ 5| 000 ~ 023|317 16.02 | 100kN/m%#Bz25 | 1.00 | 1297 ~ 2125 12835 |3m&E#BZ 5| 2000 ~ 21.25| 317 16.02
zhLst 100|184 ~ 963\ 100.00| This | 023 ~ 963 3.00 15.16 zhLst 1.00 | 6.00 ~ 1297 100.00| FnLS | 5,00 ~ 20.00| 3.00 15.16
66 100kN/mM#E#BZ5 | 1.00 | 000 ~ 150 122.89 |3mZzi#BAB| — ~ — — — | 100kN/mM%#8=2% | 1.00 | 1227 ~ 1800 12289 |3m%EiBzZ% - ~ — — —
zhLst 100|150 ~ 929\ 100.00| Fhis | 000 ~ 929] 272 13.73 zhLst 1.00 | 56,00 ~ 1227 100.00| FnLS | 5,00 ~ 1800 2.72 13.73
67 100kN/mM#E#BZ5 | 1.00| 000 ~ 114 11722 |3mZ#BAB| — ~ — — — | 100kN/mM%#8=2% | 1.00 | 1432 ~ 1947 11722 |3m%E#BZ% - ~ — — —
Tt 1.00 | 114 ~ 893 100.00 | #nlst | 000 ~ 893 2.88 14.564 FhLst 1.00 | 6.00 ~ 1432 100.00 | TnS | 6.00 ~ 19.47| 2.88 14.564
68 100kN/mZ#Bz25 | 1.00 | 000 ~ 058| 10859 |3mEBZB| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1536 ~ 17.96| 10859 |3mx#Bz% -~ — — —
Thilst 1.00 058 ~ 836 100.00 | ThLs | 000 ~ 836 2.94 14.84 st 1.00 | 6.00 ~ 1536 100.00 | TnS | 6.00 ~ 17.96| 2.94 14.84
69 100kN/mZz#z25| 1.00 | 000 ~ 1.28| 11940 |3mx#¥z2| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1390 ~ 19.58| 119.40 |3m%E#Bz25% -~ — — —
Thilst 100|128 ~ 907\ 100.00| ThiH | 000 ~ 907|285 14.40 st 1.00 | 6.00 ~ 1390| 100.00 | TnLS | 6.00 ~ 1958| 2.856 14.40
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Thst ~ Thst ~ ZThst ~ Zh s ~




